Scheduling Exam Questions

1. (a) Describe the objectives of scheduling in a multi-user operating system.

     
[3]

(b) Describe two common scheduling policies.

     
[4]

(c) State five methods by which the priority of a job may be determined.

     
[5]
2. (a) Explain why the operating system, of a multi-access computer system, needs to schedule the processing of jobs.

      

[2]

(b) Describe how the operating system manages the throughput of jobs. Your answer should contain references to scheduling, job queues and priorities.

     
[5]
3. Explain the importance of job type when a number of jobs are being processed using a multiprogramming operating system.
     
[3]

4. (a) Explain the difference between 

(i) Input/output bound jobs and

(ii) Processor bound jobs.

     
(b) Explain how the computer should prioritise the two types of job if it is going to make maximum use of the system.

     
(4)
5. Explain how interrupts are used in a round robin scheduling operating system.

     
(3)
6. State three different types of interrupt that may occur and say in what order the three interrupts would be handled if they all arrived at the processor together, giving a reason for your answer.

     
(5)
